
	[image: ]Maths Home Learning
Measure

	Year 5 Learning Booklet






Convert between different units of metric measure (for example, kilometre and metre; centimetre and metre; centimetre and millimetre; gram and kilogram; litre and millilitre)
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Use all four operations to solve problems involving measure [for example, length, mass, volume, money]
Solve problems involving converting between units of time
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. Complete the conversions.

1,000 mm=1m 1,000 ml=11
5,000 mm = Im Jml=31
50,000 mm Jm Jml=301
500mm=__Jm 300ml= (")t
5500mm=__Jm )ml=031

W Complete the missing information

1

1 1
oo ™= mm om= mm em= mm

Slel=[Jml 21+ [ Jml=2500ml

W Compare the measurements using < , > or =

20 () 1800 ml eot (O) s000mi
28m O 280 mm 3700m O 37mm
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B Measure the height of the piles of books in centimetres,
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Find the difference between the tallest and shortest pile of books in
millimetres.

W Line Ais 6 centimetres long.
Line B is 54 millimetres longer than line A.
Line Cis % of line B.
Draw lines A, B and C.

I Here are the heights of 4 children.

Put the children in height order, starting with the shortest.
Write their heights in millimetres.
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. Complete the conversions.

1year =

months

years = 60 months
3 years 2 months =

years (

years = 24 months

25 years = months

months

months = 75 months
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Use this information to complete the conversions.

1
3hour = () minutes

3 and 24 =204
15 minutes =(___) seconds
1,05 minutes = () seconds
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W Complete the table.

42 days

5 weeks and 5 days

10 weeks and 5 days

100 days
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Amir buys 2,500 grams of potatoes and
2,000 grams of carrots.

34 >
3%
e

He pays with a £5 note.
How much change does he get?
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A 10 pence coin is 2 mm thick.

Eva makes a pile of 10 pence coins worth
£130

What is the height of the pile of coins in
centimetres?
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Three children are running a race.

* Whitney finishes the race '
in 3 minutes 5 seconds. =

* Evafinishes theracein 5=
192 seconds. Q

* Alex finishes the race in S
2 minutes and 82 seconds.

Who finishes the race first?
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Cola is sold in bottles and cans.

1.25 litres
£159

Alex buys 5 cans and 3 bottles.

She sells the cola in 100 ml glasses.
She sells all the cola.

How many glasses does she sell?

Alex charges 50 p per glass.
How much profit does she make?
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Use this information to complete the conversions.
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10 weeks and 5 days

100 days
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How much change does he get?
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A 10 pence coin is 2 mm thick.

Eva makes a pile of 10 pence coins worth
£130

What is the height of the pile of coins in
centimetres?
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Three children are running a race.

* Whitney finishes the race '
in 3 minutes 5 seconds. =

* Evafinishes theracein 5=
192 seconds. Q

* Alex finishes the race in S
2 minutes and 82 seconds.

Who finishes the race first?
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Cola is sold in bottles and cans.

1.25 litres
£159

Alex buys 5 cans and 3 bottles.

She sells the cola in 100 ml glasses.
She sells all the cola.

How many glasses does she sell?

Alex charges 50 p per glass.
How much profit does she make?
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W Find the missing values on the double number line.

O 2 25 45
kg | |
g T

so0 1000 (J O O

Write your conversions as sentences.

W Complete the missing information.

25 kilogram = Jgrams Skm = metres
7kg+%kg:C]g 2km+(__Jkm=12500m

W Compare the measurements using <, > or =

Skg 04,500 ¢ 12kg O12,ooo ¢
s7km( )zom  37000m () 7km
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